odnuod ploce

= a WD
<[Z57% D>

FH B Hi: A 2= )1 IR
M B B 7R 2R R
HAEHH4H 21 BAE
P AR F K 165cm, {KE 50kg
B 80cm, W 63cm. H 90cm, #t 24.5cm

B B <RETTTY
HREE: L 7 h—

AXa—N—Z AT

ToA RIS
B POP 744 —2 #k

L Edn

* ZHHJCON it - B EE 17 AV — ok - B 58 vy Ax—
JCNEHE [HRAZDIF—55T7 K] UiR—F—
* FL—ar T rAF N T TS — 28k Sk
[ — 7L — D% J s [ <F = —58>
FV 7% JENA T H A=
* MC/VHB R Kk S Engm A~ MR EMC
D AT ER AR N 22D A Nk
TN RER
T ZF RS R — LA —T — AN DVD H5E MC L,
r—rva— Rl BEIF— RN—T o — FRANUIELE
* FOfh,/NTT 23 PV K
LR BEEA A—H— NV RS T o Vx4 B4
FOODEX AT —U TV ARE UK, TTARVIP 77K

1] THREL Er FPAIFELT, !
SETOEGRELEIL RET FoIIZREESLFET !



